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Lösungen:  

1. void glaetteWarnung(double temp){ 
  if (temp < 4){  
   System.out.print(„Vorsicht! Glättegefahr!“); 
    } 
 } 
 
 
2.a) 
 
 
 
 
 
 
 
b) void WurzelZiehen(double w){ 
  if (w >= 0){  
   System.out.println(Math.sqrt(w)); 
    } 
  else{ 
   System.out.println(„Geht nicht!“); 
    } 
 } 
 
 
c) double WurzelRückgabe(double w){ 
  if (w >= 0){  
   return(Math.sqrt(w)); 
    }else{ 
   return -1; 
  } 
 } 
 
 
 
 
 
 
 
 
 
 

Warte auf Eingabe einer Zahl 

Berechne Wurzel Ausgabe „Error“ 

Zahl größergleich Null? 
 

Wahr                                           Falsch 
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4.  
 
 
 
 
 
 
 
 
 
 
 
 
  

Ausgabe  
keine 
Lösung 

                 Ist 𝐷 ≥ 0 ?           
 

Ja                                                  Nein 

Warte auf Eingabe von a, b, c 

Berechne  𝐷 = 𝑏ଶ − 4𝑎𝑐 

Ist 𝐷 > 0 ?          
  

Wahr                 Falsch          

𝑥ଵ = ⋯ 

𝑥ଶ = ⋯ 
𝑥ଵ = −

𝑏

2𝑎
 


